Notational Probability

1. P(A)+P(A”)=1 or P(A’)=1-P(A) or P(A)=1-P(A)

2. P(A U B)=P(A) +P(B) - P(A N B)

3. A and B are mutually exclusive events means A {1 B =empty which implies P(A N B)=0

P(ANB) P(BIA) _P(ANnB)

4. PAIB) = o

5. A and B are independent events = P(A N B)=P(A)xP(B)

Q1) If P(A?) = 0.60, P(B) = 0.30 and P(A N B) = 0.15, find
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e. Are A and B mutually exclusivé? Explain your reason. . [ 5
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£. Are A and B independent? Explain your reason.
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P Av B) Q2) IfP(A) = 0.40, P(B) = 0.70 and A and B are independent events. Find P(A U B).
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Q3) If P(A”) = 0.35, P(B) = 0.20 and A and B are mutually exclusive events. Find P(A U B).

O (AUBD = ( AUB) = 0.€5 + 2.2 ~(Ca)
P(A}’Kwéo'EB = 0.85

Q4) If P(A) = 0.45, P(B) = 0.60 and P(A.U B) = 0.85

)  Find P(ANB)
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i1) Are A and B independent? Explain your reason
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P(ANR) # 0.27
Q5) If P(A[B ) = 0.25, P(B) = 0.60 and P(A U B) = 0.75

)  Find P(ANB) :
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i)  Find P(A)
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ii1) Are A and B independent? Explain your reason
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Q6) If P(BJA ) = 0.65, P(A) = 0.80, P(B*) = 0.45

) Find P(A N B) |
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